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Area under the velocity curve equals displacement. From 0 - t1

this is negative displacement and then from t1 to t2 it has the 
same positive displacement, returning back to the to the origin 
at t2. From t2 to t4 it's all positive displacement, meaning it ends 
up in the positive position. 

Rubric:

3 pts - part (a): slope, constant positive and negative, relative magnitudes
2 pts - part (b): slope magnitudes, factor of 2
3 pts - part (c): area, negative then positive, zero slope at t1, zero displacement at t2, zero slope at t4 

2 pts - part (d): positive vs negative area, ends positive




